
DESCRIPTION

DRAWING USAGE CHECKED BY

ENG. APPROVALDRAWN BY

DWG. NO.

CPD NO.

CEK

1
  O

F
  4

 BMC 10/29/2018

10/26/2018 VFA12-M3-WLL

THREE SECTORS HEAVY WLL FRAME
AND MONOPOLE ATTACHMENT HARDWARE

WITH FIVE MOUNTING PIPES

CUSTOMER VFA12-M3-WLL
CLASS SUB

PART NO.

81 02

P
A

G
E

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (± 0.030")
DRILLED AND GAS CUT HOLES (± 0.030")  - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (± 0.010")  - NO CONING OF HOLES
BENDS ARE ± 1/2 DEGREE
ALL OTHER MACHINING (± 0.030")
ALL OTHER ASSEMBLY (± 0.060")

TOLERANCE NOTES

PROPRIETARY NOTE:
THE DATA AND TECHNIQUES CONTAINED IN THIS DRAWING ARE PROPRIETARY INFORMATION OF VALMONT
INDUSTRIES AND CONSIDERED A TRADE SECRET.  ANY USE OR DISCLOSURE WITHOUT THE CONSENT OF
VALMONT INDUSTRIES IS STRICTLY PROHIBITED.

Engineering 
Support Team:

 1-888-753-7446

valmont

Locations:
New York, NY
Atlanta, GA
Los Angeles, CA
Plymouth, IN
Salem, OR
Dallas, TX

PARTS LIST

NET WT.UNIT WT.LENGTHPART DESCRIPTIONPART NO.QTYITEM

412.8568.81 RING MOUNT WELDMENTX-LWRM61

102.1317.0215 1/2 inRING MOUNT BENT PLATE CONNECTIONX-RMBP62

95.3015.8812 inVFA-HD PIVOT PLATEX-VFAPL463

428.4471.41 SUPPORT ARMX-VFAW64

143.894.807 inCROSSOVER PLATESCX2305

161.4726.9184 in2-3/8" X 84" SCH 40 GALVANIZED PIPEP28466

870.9958.07120 in2-7/8" x 120" (2-1/2" SCH. 40) GALVANIZED PIPEP30120157

461.6276.94150 in2-7/8'' X 150" (2-1/2" SCH. 40)  GALVANIZED PIPEP3015068

30.082.51 FLAT DISK CLAMP PLATE 4" CENTERS (GALV.)X-127594129

22.120.92 CLAMP (4" V-CLAMP) GALVANIZEDX-1000642410

5.750.482 1/2 in3/4" x 2-1/2" UNC HEX BOLT (A325)A342121211

1.060.06 3/4" HDG USS FLATWASHERG34FW1812

0.510.04 3/4" HDG LOCKWASHERG34LW1213

2.550.21 3/4'' HDG HEAVY 2H HEX NUTG34NUT1214

75.274.18 5/8" x 48" THREADED ROD (HDG.)G58R-481815

13.791.15 5/8" X 3" X 5-1/4" X 2-1/2" U-BOLT (HDG.)X-UB53001216

8.020.332 1/2 in5/8'' x 2-1/2" HDG A325 HEX BOLTA5821122417

7.500.312 1/4 in5/8'' x 2-1/4" HDG A325 HEX BOLTA5821142418

2.820.03 5/8" HDG LOCKWASHERG58LW10819

14.030.13 5/8'' HDG HEAVY 2H HEX NUTG58NUT10820

88.640.74 1/2" X 3" X 5" X 2" GALV U-BOLTX-UB130012021

9.830.415 1/2 in1/2'' x 6-1/2" HDG HEX BOLT GR5 FULL THREADG120652422

6.480.274 in1/2'' x 4" HDG HEX BOLT GR5 FULL THREADG12042423

9.820.033/32 in1/2" HDG USS FLATWASHERG12FW28824

4.000.011/8 in1/2" HDG LOCKWASHERG12LW28825

20.630.07 1/2'' HDG HEAVY 2H HEX NUTG12NUT28826

TOTAL WT. # 2999.58



DESCRIPTION

DRAWING USAGE CHECKED BY

ENG. APPROVALDRAWN BY

DWG. NO.

CPD NO.

CEK

2
  O

F
  4

 BMC 10/29/2018

10/26/2018 VFA12-M3-WLL

THREE SECTORS HEAVY WLL FRAME
AND MONOPOLE ATTACHMENT HARDWARE

WITH FIVE MOUNTING PIPES

CUSTOMER VFA12-M3-WLL
CLASS SUB

PART NO.

81 02

P
A

G
E

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (± 0.030")
DRILLED AND GAS CUT HOLES (± 0.030")  - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (± 0.010")  - NO CONING OF HOLES
BENDS ARE ± 1/2 DEGREE
ALL OTHER MACHINING (± 0.030")
ALL OTHER ASSEMBLY (± 0.060")

TOLERANCE NOTES

PROPRIETARY NOTE:
THE DATA AND TECHNIQUES CONTAINED IN THIS DRAWING ARE PROPRIETARY INFORMATION OF VALMONT
INDUSTRIES AND CONSIDERED A TRADE SECRET.  ANY USE OR DISCLOSURE WITHOUT THE CONSENT OF
VALMONT INDUSTRIES IS STRICTLY PROHIBITED.

Engineering 
Support Team:

 1-888-753-7446

valmont

Locations:
New York, NY
Atlanta, GA
Los Angeles, CA
Plymouth, IN
Salem, OR
Dallas, TX



DESCRIPTION

DRAWING USAGE CHECKED BY

ENG. APPROVALDRAWN BY

DWG. NO.

CPD NO.

CEK

3
  O

F
  4

 BMC 10/29/2018

10/26/2018 VFA12-M3-WLL

THREE SECTORS HEAVY WLL FRAME
AND MONOPOLE ATTACHMENT HARDWARE

WITH FIVE MOUNTING PIPES

CUSTOMER VFA12-M3-WLL
CLASS SUB

PART NO.

81 02

P
A

G
E

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (± 0.030")
DRILLED AND GAS CUT HOLES (± 0.030")  - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (± 0.010")  - NO CONING OF HOLES
BENDS ARE ± 1/2 DEGREE
ALL OTHER MACHINING (± 0.030")
ALL OTHER ASSEMBLY (± 0.060")

TOLERANCE NOTES

PROPRIETARY NOTE:
THE DATA AND TECHNIQUES CONTAINED IN THIS DRAWING ARE PROPRIETARY INFORMATION OF VALMONT
INDUSTRIES AND CONSIDERED A TRADE SECRET.  ANY USE OR DISCLOSURE WITHOUT THE CONSENT OF
VALMONT INDUSTRIES IS STRICTLY PROHIBITED.

Engineering 
Support Team:

 1-888-753-7446

valmont

Locations:
New York, NY
Atlanta, GA
Los Angeles, CA
Plymouth, IN
Salem, OR
Dallas, TX

33 29/32"

2 15/32"

120"40"

36" 36" 36"

NOTE:
OTHER SECTORS REMOVED FOR CLARITY.

40"

13" 13"

12" TO 45"
DIAMETER POLE

36"



DETAIL  A

DETAIL  B

DETAIL  C

DETAIL  D

DETAIL  E

DETAIL  F

DETAIL  G

DESCRIPTION

DRAWING USAGE CHECKED BY

ENG. APPROVALDRAWN BY

DWG. NO.

CPD NO.

CEK

4
  O

F
  4

 BMC 10/29/2018

10/26/2018 VFA12-M3-WLL

THREE SECTORS HEAVY WLL FRAME
AND MONOPOLE ATTACHMENT HARDWARE

WITH FIVE MOUNTING PIPES

CUSTOMER VFA12-M3-WLL
CLASS SUB

PART NO.

81 02

P
A

G
E

TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE:
SAWED, SHEARED AND GAS CUT EDGES (± 0.030")
DRILLED AND GAS CUT HOLES (± 0.030")  - NO CONING OF HOLES
LASER CUT EDGES AND HOLES (± 0.010")  - NO CONING OF HOLES
BENDS ARE ± 1/2 DEGREE
ALL OTHER MACHINING (± 0.030")
ALL OTHER ASSEMBLY (± 0.060")

TOLERANCE NOTES

PROPRIETARY NOTE:
THE DATA AND TECHNIQUES CONTAINED IN THIS DRAWING ARE PROPRIETARY INFORMATION OF VALMONT
INDUSTRIES AND CONSIDERED A TRADE SECRET.  ANY USE OR DISCLOSURE WITHOUT THE CONSENT OF
VALMONT INDUSTRIES IS STRICTLY PROHIBITED.

Engineering 
Support Team:

 1-888-753-7446

valmont

Locations:
New York, NY
Atlanta, GA
Los Angeles, CA
Plymouth, IN
Salem, OR
Dallas, TX

A

B

X2
 

X2
 

X2

X2
 

X2
 

X2

C

X2
 

X2

D

E

F

X2
 

X2

G

NOTE:
OTHER SECTORS REMOVED FOR CLARITY.

6

8

10 6

9

10

22

24

25

26

23

24

25

26

5

21

24

25

26

21

24

25

26

1

16

19

20

2

17

19

20

2

17

19

20

4

3

18

19

20

11

12

13

14

3

11

12

13

14

18

19

20

15

19

20

10

9

10

23

24

25

26

22 24 25 26


